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1. Answer the following questions : 1x5=h

O 2T Ted fra g

a) When the field of study is very large and the
respondents are literate we can use method
for collection of primaryn data (fill in the blank)
TemToPTen s Ui 92 el (e Ry 27 —
32l G5 TS AR | ( 9sTNE 27 7

b) Forasymmetrice distribution, the measures of skewness
is (fill in the blank)
b ST AT T A 251 | (4TI 7 =)

¢) If A and B are two indepandent event then
E(AB) = (fill in the blank)
76! g B A o Basaed E(AB) =
(40TI9Z 79 )

d) Median is not influenced by extreme values. (state true
or false)
TG B T AR SIS T2 | (7 ST 51T w9

e) 1£25% of the items are less than 10 and 25% of the items
are more than 40, then the co-effecient of quartile
deviation is (fill in the blank)
@51 3% 25% W 10 S0 7% 2w 25% WA oo 40 wiew
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2. Answer the following questions (any five) : 2xh=10

a) Which measures of central tendency is best and why?
(e 1 213163 (FICHT o1 SBIROLS (o9 e Ry 2

b) Distinguish between nominal and ordinal data.
TS 2 S G @6 Ao 2w &o |

¢) What is the difference between questionnaire and
schedule?
20Hlold I SRpD [ ST iy 5 e

d) Write anote on one commonly used method of graphical
representation of data.
TR S Cofglole M5aMb= Tz (21 BT 1Y 9ofEe <51 T
forait |

e) State the Baye's theorem
(A2 Aot o1l |

f) State and prove the addition law of prbability.
TGO (Al OB o7l i 214t 541 |

g) Show that E(x?) = {E(x)}?
mger @ E(x?) = {E(x))

h) Write a note on different sources of secondary data

¢oMer w2 fafen Seom Raea «b1 il e |
3. Write briefly on the following (any four) : 5x4=20
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a) What is the Statistical Table? Explain clearly the
essentials of a good table.
ARPTIRIET AT A 5 7 Q4 w1 i T SRR el 7 = |
b) How do you determine mode graphically for a grouped
frequency distribution?
FES ARAS] TBeT #/7] TERF Sz i vz el sl e
¢) The first three moments about the point ¥=10 are
respectively 5, 35 and 25. Find X, p, and 1,
51 759 W X=10 Ace1rsr eies B! orge v @ew 5, 35 v 25 299
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If a pair of dice is thrown, find the probability that the
sum is greater than 12.
T 151 wyp el Mool 7531 23, 7908 /Rt w19t Fe ghE (WeiwE s
TIEF (ZR TSRSl e = |
A random variable X has the p. d. f.
51 A oE b IR Ty o
flx) = ax, Oexel
=(, elsewhere
find (Sfear)
i a
(i) E()
(i) E(x?
In an examination 30% students failed in mathematics,
20% in chemistry and 10% failed in both subjects. One
student is selected at random.
(T <51 =131 30% 2 vl siffes, 20% wia-2iaiE e R
wi<E 10% wig-=idica 7ot s sigesn (20E | 9o gie 1S i
A et LA |
i) What is the probality that the student failed in
mathematics, if the student already failed in
chemisty. :
T gaes P [FesTe Sped 20z (909 (969 fies wgemi
ERRTEES) R ¢
i) What is the probability that the student failed either
in mathematics or in chemistry.
2 41fd® <) i TEae sewy e Teifhe R
Represent the following data with the help of a diagram.
a1s frat o Soige g 2t Gorgrem w41 ¢

2023 2024
Cost of production in thousand of Rs in thousand of Rs
BT << 2 5! Zpiee TG Rpive
Raw Materials 1,200 1,500
1 BAWmI
Labour cost 700 810
3
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Direct cost 300 420
e
Misc Cost 400 640
D 4=
4. Answer any one question from the following : 10x1=10
OFT WEPTIRA S Rigicr @bk Tas ) ¢

a) i) "Inorder tocompare two distributions the mean and
the variances are to be studied together" - Discuss
0! TH TS G I THACEETIT G S 76 TICol ST
TR TS — ST T4 |
ii) Calculate medean and the mode quartile from the
following data :
OeTS Al SARTIEA 141 S Wi 9o T e
Mark : 5-10 10-15 15-20 20-25
T
No of students 5 6 15 10
I AR 3
Mark : 25-30 30-35 35-40 40-45
CEER)
No of students 5 4 2 2
2 Rl 8
b) Define raw and central moments. Derive moments about
mean in terms of moment about origin.
TR 34T AT OGP W e A9 SR el 1 | e Ao wrgefs

CFORY 35 AT 9o wigie el = |
¢) i) A discreate random variable X defined as follows :
51 702 bere X 3 7 WoTe Wl 4=l ¢
X: 0 l 2 3 4
PX=xj: = 23k 02 k  2k+0.1
Find Sfereqt ¢

i K (ii) The probability distribution, (et
), (iif) P (x>2), (iv) E(x), (v) V(2x-4)




